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e Y4 X Ehh | R AR RITHN fifi A% k=
BHYN 6 =i 5kg 5 kg 900 EE
BHHN 1B =i 5kg e kg 850 EiE
BHYN 8 =i 5kg & kg 800 EiE
BHHN 102 = I 5kg e kg 700 EiE
7o 27/28 &= 5kg = kg 950
7 5kg =3 1A ) kg | 1,250 EiE
7Y% 2E gl 10/12kg & kg 800 g
ES<Y 10/15kg RIG 1A 4 kg | 1,500 EE
ES<Y 7/9kg & 1A i kg | 1,750 EiE
hyA 3kg K% 1A 4 kg | 1,500 )
hv#x bkg R/ 1A i kg | 1,800 #
houA Tkg fg§m 1A 78 kg | 1,600 )
A3 3/5kgH  |ERE-= 5N 1A 8 kg | 2,200 #
< B A 6/ EEdba Skg& 78 kg | 3200 TH
VAP 3kg FE 1A i kg | 4,000 EiE
XTEH 2kgH R 1A ] kg | 4,000 EE &~
L9 N 100g P P 600
/<) 50/70g FE & ke | 2,300
IV 250/300g | dtifEiE & kg | 2,000
HHT 100/150g R 1 kg | 2,200
yJH 20/30g dtiEE & kg | 2,200
BiEEH+* 120g R & 1& 500
BEEADFT 150g R & 1& 600
XAREH* 400¢g 3= & 1& 750
XREH* 300g ®ms & 1& 650
XREHT 200g =] 1 1& 550




